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SUlpen (eflsam ersdar, 01-15)
Sletveuqpia Cam_fsafs iR

mtfuramsm!sr@gsgg,g Ggﬁﬁ@g@é&&mm.

¥ W =
3.7,15, 2 , 63,127
1) 30 2) 31
3) 47 4) 52

625, 5,125, 25,25 9, 5
)5 2) 25
3) 125 4) 625

1 1 2 2
11;,125,14;,165, ?

1 1
18 2)19-

3)20 4222

AZ,BY, CX,DW, ?, FU

1) VE 2)EV
3)ES 4) SE
3 4 X
B,C,E, H, L,
M 2)Q
3)0 4) P
Al,B4,C9, ?
1) D25 2) D36
3) D16 4) D49
4 5 3 1 7
7 8 3
1)22 2)23
3) 32 4) 28

Direction (Questions 1-15)
Find the missing number/alphab ts
in the following sequence.

3,7,15, 2,63, 127
1)30
3)47

2) 31
4) 52

625, 5,125, 25,25 2,5
15 2)25
3) 125 4) 625

1 '1 2 2
11;,125,14;,165, ?
1 1
8 2)19;

3)20 4) 22

AZ, BY, CX,DW, 7, FU

1) VE 2)EV -
3) ES 4) SE
B.C.E;: B 1, 2
HM 2)Q
3o 4) P
Al, B4,C9, ?
1) D25 2) D36
3) D16 4) D49
4 3 1 7
A %\ A
7 a8 3
1) 22 2)23

e e o
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9.

10.

k.

12,

1) 24
3)22

1

5

16®r) 21@11 ?*‘O?n

aq
9 r

YYY

26 7y
3) 86 4) 74
? A : T
M>% | s
21 | 1
, 3
i H
HhM 2)P
»Q 4)S
1,1,16,4,25,5, 36,6,2, 11
1) 121 2) 112
3) 211 4111
11.13.17.19,2,29
py21 2) 23
3)25 4)27
4,5,7,10, 01,13, 16,17, 2,22
)18 2) 19
3)20 4) 21
1.1,3,27,2,8. 4,2
)16 2) 25
3) 64 4) 81
ABC, ZYX, DEF, -—----- » GHI
1) WYU 2) TUY
3) UVW 4) VUT

L

8. a 2 SY? 6 a
Y 21 Y

2) 20
4) 21

9.

10.

11.

14

1)24
3)22

n

16®v 2z®n ?4@93

.r,.-.|ﬁw\.'.&_!'n.‘-'1:nl-l"g" F

6 2
1) 88 2) 80
3) 86 4) 74
2 A
M) % | 5 !
, .
D 5 13
1 H
HM 2) P 1
3)Q 4)S |
1,1,16,4,25,5,36,6,2, 11 _{ 2
1) 121 2) 112 !
3) 211 4) 111
11,13,17,19, 2,29 >
1)21 2)23 .
3)25 4) 27
4,5,7,10, 11, 13, 16, 17, 2,22
1)18 2) 19 2
3)20 4) 21 '
1,1,3,27,2,8,4,? :
1) 16 2) 25 12
3) 64 4) 81 i
ABC, ZYX, DEF, —-—-- . GHI
1) WYU 2) TUV
3) UVW 4) VUT

i8¢




16.

Y.

18.

19.

20.

21.

21,

23.

sufdapsnm (eSemrm svetar, 16~25)

SysamL eflarmssafla : : s (LpSHT @_6irer
@@ aurigemgsafisoL G TeTHmIE R
Qamry o srarg). 5168 ausns Ggm_iyenw
QUL (5SS LOTSTT 6(T5, BN & 60 G 6L
Qar@iésE0u_QeTsT BT wrhy
sflsoLsaflsSlphag) CoitOsM&Hsay.

Mango : Fruit : : Potato : ---e-o-
1) Root 2) Stem
3) Flower 4) Leaf

Train : Passenger
1) Aeronaut

: : Aeroplane ; -----
2) Astronaut

3) Pilot 4) Air hostess
Good : Bad : : Roof: ——
1) Window 2) Floor

3) Walls 4) Pillars

Water :. fce :: Steam : ------
1) Heat 2) Water
3) Boil 4) Fire

AE:GK: : MQ : ---—-

1) VZ 2) SW
3) TX 4) UY
37:50 : : ----:82

1) 81 2) 64
372 4) 65
§:16::7% —

1) 19 2) 22
3)21 4) 20
B:d::D; .
1)9

3; 8 4) 64

388/3—1a

16.

1%

18.

19.

20.

21.

22,

23.

Direction : (Q.No.16 -25)
There is some relationship between

two given words/letters/numbers
before the : :. Find the other word
from the given alternatives having
the similar relationship.

Mango : Fruit : : Potato : -
1) Root 2) Stem
3) Flower 4) Leaf

Train : Passenger :
1) Acronaut
3) Pilot

: Aeroplane : —--
2) Astronaut
4) Air hostess

Good : Bad : : Roof:
1) Window 2) Floor
3) Walls 4) Pillars

Water : Ice :: Steam : —---

1) Heat 2) Water
3) Air 4) Fire
AE: GK: : MQ : -~
VL 2) SW
3) X 4) UY
37:50 : : -—-:82

1) 81 2) 64
3) 72 4) 65
5:16::7: -—--

1)19 2)22
3) 21 4)20
B:4::D: -——

H9 2) 16
38 4) 64
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24,

25,

26.

27.

28.

6
F X
C 2 :;;: ..... —
1)2 2)3
23
3)—7~ 4)4

BCA : EFD : : HIG : -

1) KJL 2) KLJ
3) JKL 4) JLK

ufiepsnm (allsorr stedor. 26-30)
&0y GarhesiulL amsaaia o mar
eLpsIgy) SUITE S e e afletr Qegm_ritflstr

SfgtuenL ufleh \BSIGLTGSSOTET L Smes

(A,B,.C,D wmgia E ) GMsED Qsflafamnsr
Coik Qs HisHaLn

O®Q
QD @

Hours , Days, Months
DA 2)B
3)C 4)E

Women, Teachers, Doctors
DA 2)B
»C 4HD

Reading material, Newspaper,
Magazines

1)B 2)C

3)D $HE

24,

25,

26.

27.

28.

2';».&.4::5;7:,&_-1{
=

Ciliig i =

1)2 2)3
23 |
= 4)4

3= )

BCA : EFD:: HIG : ~—~-

1) KJL 2) KLJ
3) JKL 4) JLK i

Direction (Question Number 26-30)
Choose the one that best illustrates
the relationship among three given
classes in each of the questions, from
the five given diagrams A,B,C,D

and E. I3

OOQ" -
@ @

33
Hours , Days, Months
HA 2) B
3)C 4 E
34,
Women, Teachers, Doctors
A 2)B
3)C 494D - 35
Reading material, Newspaper,
Magazines
1)B 2)C
3)D 44 E




29.

30.

31

32,

33

34.

35.

Food, Curd, Spoon

1A 2)B

3D 4) C

Human, Dancers, Players

B 2) A

3D 4) E

auflipeny (sSleorm stetar. 31-35)

Gar®Ssuu Herer &S L0 G606
SEUETTLON &1 Uitg S SP&HTamLD

Sl6uTT 58 (61585 eflsmLwiel & e

YGsay, grefemsy eflL 2 wipomseurt Gc%mrrau
aflpwiemw  efl @mmmrrsursurr &L06TT,
eflspiiemy oSl 2 winomeTaNt gyemsh gjoeny
oSl (&6 TETLOMEDT 6T

WB&eyd @ winorssreud wi ?

) yGam 2) &iostr

3) oo 4) eflegiis

Eouiselled 2 wyriseflsr SipCusnL_1dlsy
@iy  aflosuily  Hns MEUSHHT6V
HreTeMD @560 Himusurt wmi ?

PR 2) yGasis

3) &iLasdr 4) gl

o wimissfiar  oyeluenL uilsy symisuflsmeufied
BhsemasHSTe , HlolisE IHHSLIRILINES
Hiiueur wmr ?

1) &Losar 2) g,,qu:u'r-
3) WCaei 4) efleniis
@surrasﬂﬂsu \leah @sTeromareut wimi ?
1) o 2) sflsguls
3) giLostr 4) qedsu

el spiitemius oflL o wigLomeTeIT &6 Wi ?

1) ples whpuh wpGees
2) @(36551;1 Lﬂg}gu.n &HLO6ET
3) goear anglw Sjort

4) ojoit wHyd pGee

29;

30.

51,

32.

33.

34,

35.

Food, Curd, Spoon

1)A 2)B
3)D 4) C
Human, Dancers, Players
1)B 2)A
»D 4)FE

Directions (Question No. 31-35)
Read the following information
carefully and answer the questions
that follow,

Mukesh is taller than Rajeev but
shorter than Vijay. Suman is taller
than Vijay but shorter than Amar.

Who is the tallest?
1) Mukesh
3) Amar

2) Suman
4) Vijay

If all are asked to stand in descending
order according to the height, who
would be in the fourth place?

1) Vijay 2) Mukesh

3) Suman 4) Rajeev

In the ascending order of height, who
stands next to Vijay?

1) Suman 2) Amar

3) Mukesh 4) Vijay

Who is the shortest of all?
1) Amar 2) Vijay
3) Suman 4) Rajeev

Who are all taller than Vijay?

1) Rajeev and Mukesh
2) Mukesh and Suman
3) Suman and Amar
4) Amar and Mukesh



36.

37

38.

39,

40.

uflpen (sSler ereder. 36-40)
&0y Qar®ésiie Herer UL G&lsb
BILLD — L seutsememyn
Qerslibusin ~ Quistirssanemuin
Y&GHEmsmTD - Cousnmudey

2_sTemeusemariyh @fléHns)

sreufls, Sstrauqis efleorm s @md@,
eSlemLwef&eayh.

7

upSeaseflar  Qurss
6TELIRIETEY ?

1) 6 2) 15
3)21 411
LS5 GClustorseafler ereienfldoms.
18 2) 6

3) 15 4913

ulg &8 Cousmeoullgyerer Glustsraeflsar
67 suaT s00f1 S emeh.

1) 10 2)13

3) 14 4) 21

Cousmsvuflayiser LipHsrg Gustarsaflsr
616007 6uaf 185 6M 6.

1) 22 2) 14

3)24 417

Cousmeuiimm, GLsToT &elr Dj60eTS

Lig @ eui s GLomss o1eu sauflsems.

1) 16 2)6

sTtnT 60t |G em s

36.

37.

38.

39.

40.

Direction (Question No. 36-40)

In the following diagram,

Circle indicates Educated people
Rectangle indicates Women
Triangle indicates Employed people
Study the diagram carefully and
answer the following.

L]

How many people are educated in
all?

16 ' 2) 15
3)21 411
Number of educated women.
1)8 2)6

3) 15 4) 13

Educated employed women
1) 10 2)13
3)14 4) 21

Women who are employed but not
educated.

1)22 2) 14

3)24 4) 17

46

Total number of educated people wha 4~

are neither women nor employed.
1) 16 2)6
3) 15 4) 10

i




41.

42,

43,

44.

45.

46.

47.

Hx12x13 ... 16x17 67687 5
Foinee 1 m Qu

Clgmensuflsr SRETMTLD @evdanih Goes

1)4 2)5

3)0 48

GAus @ yooulls NAGPUR ST6ITLIEM 8
OBHQVb 5T60s GMISSHTH BENGAL URU
STl LIEn S, 6TEUSLN)| G mHeumb ?

1) DGPICMVSV

2) CFOHBMVSV

3) DGPICNWTYV

4) CFOHBMVTYV

GOLD smrrusmg; HOME semeh COME
srsurusmg, DONE  sreorayd @figsms SONS
STEATLISDS eTa IR GMlsseomn ?

1) TTOT 2) TOOT
3) TOOS 4) TONT

SYSTEM  etstrusmg  SYSMET 6TEUTRLLD
NEARER eerusng; AENRER  sterayh
Gfissrn F RACTION STEITLIGN S 6TELEUT)]
GMlss&mn ?

1) NOITFRAC 2) CARFTION
3) CARFNOIT 4) FRACNOIT

EDUCATION emsirusns  NOITACUDE
stareyd SOCIETY eetrusng YTEICOS
staoreyn  @Msenew  WATER  serusng
STEUGUTM] (MG SH60mLd ?

1) RETWA 2) REWTA

3) REATW 4) RETAW

SALVAR erstrusng 123456 erenreyih SAINT
sreoTueng 12789 sTemratd GBI
SALIVA ereirusng sTeusumn) @olsasuntd ?

1) 127342 2) 127324

3) 123724 4) 123742

BID = 15 wpmid FIG = 22 steuflsd
BIG = -—--
3)22 4) 24

41.

43.

44,

46.

47.

The unit digit in

the product of

PIxE2€13 .. .. 16X17 i§ woamee
H4 2)5
3)0 48

In a certain code, NAGPUR is mu i
as OBHQVS, then BE NGALU

will be coded as

D DGPICMVSY

2) CFOUBMYSV

3) DGPICNWTY

4) CFOHBMYTV:

If GOLD is code

d as HOME and

COME is coded as DONE then SONS

can be coded as
DHTTOT
3) TOOS

2) TOOT
4) TONT

If SYSTEM is coded as SYSMET and
NEARER is coded as AENRER then
FRACTION can be coded as ~-~--

1) NOITFRAC
3) CARFNOIT

If EDUCATION

2) CARFTION
4) FRACNOYT

is coded as

NOITACUDE and SOCIETY is coded
as YTEICOS then WATER can be

coded as ---—--
1) RETWA
3) REATW

2) REWTA
4) RETAW

If SALVAR is coded 123456 and

SAINT is coded
SALIVA will be
1) 127342
3) 123724

as 12789, then
coded as
2) 127324
4) 123742

If BID = 15, FIG = 22 then

BIG = -
1)20
3)22

2)18
4) 24



48.

49.

50.

52.

10

ZEBRA estrusmg 1-22-25-9-26 stsmayd
WOLF srstrusmg, 4-12-15-21
Gflssre  RABBIT
Geasmn ?

STSOTELLD
STEITLISMT,  6TEULITA)

1) 9-26-25-25-18-7
2) 18-1-2-2-9-21

3) 18-1-2-25-18-7
4) 9-26-2-2-18-7

auflupenm (efeorm sedr. 49-52)

A, B, C, D, E wpqud F sterm ooy Guri 2_emer
GHBusda A0 &) (T L06TOTLOM 637

SUlSsT 2_eTemert

i) A ersorusui B—etr ogear

ii) D erebrusuit A—sir LUMLig Hmith B-str Hmis
iii) F ereorusui E—eir Gugd)

iv) B ststrusuri A wdoib F g, HGuirlsor smi

95 GODUESHN TEHSmeT ST BLITSSH
2 _grersuri ?

1)1 2)3
3)5 4) 4
C stevrusut, A &G sTesUsm&EUTed 2 msy ?
1) 505 2) gmil
' 3) gCaMSIT 4) umlg
é@&c&ﬂuﬂﬁ&mﬂaﬁ )5 LOSTTLOIT 6T 6247 5611
wintt ?
1) BE 2) CD
3) AB 4) BC

Epesim_augfié pouprer s Hu 517
1) A eTsorusur F—sir 5Garsifl

2) F stetrueurt A—sr aGangifl

3) E sreorusui B—etr BHOS

4) B svsbrusur F—6i7 Smil

48.

49.

50.

wn
i

52.

If ZEBRA is coded as 1-22-25-9-26,
WOLF is coded as 4-12-15-21, then
RABBIT is coded as «--—-

1) 9-26-25-25-18-7
2) 18-1-2-2-9-21
3) 18-1-2-25-18-7
4) 9-26-2-2-18-7

Direction(Question No. 49-52)

In a family of six persons A, B, C, D,
E and F, there are two married
couples.

i) AisthesonofB

ii) D is the grandmother of A and the
mother of B

iii) F is the granddaughter of E

iv) B is the mother of Aand F

How many male members are there
in the family?

1 2)3

3)5 4) 4

How is C related to A?
1) Father 2) Mother
3) Brother 4) Grand mother

Who among the following is married?
1) BE 2)CD
3) AB 4) BC

Which of the following is not true?
1) A is sister of F

2) F is sister of A

3) E is father of B

4) B is mother of F



54.

55.

56.

57.

58.

11

suflupeny (eflem sresor. 53-57)
Qer@&sinun Herer HHLAG e stT
Sip LiLiem uflsy EY&GAUN Gsirar
eflern e Emé@ eSlamLweafid sy,

+ STEOTUS — 6TEOTE,LD

= STSITUS)| X 6TSITALLD

X 6TEITLIG + 6TaaLD

+ ETESTUIG + 6TEOTELD

Tsm':rug.j v eremeyd Qamen ey,

(100-2+60+4) T

1) 12 2) 40
3)20 4) 6
T225x 1510 = -

1) 215 2) 10

3) 11 4) 20
10+10—10x 10 = 10 = -
1)0 2) 1

3) 10 4) 50

30x5+2+x=8, then the value of x is

1)4 2) 19
3)2 4) 16
(10x2-4+6+1 g m—
1) 4 2)131
3)5 4) 1

g@ wallgs  aL&G gl (Sg,rrésa?]
@ﬁr@@&;wsﬂhq@éeﬂmnﬁ. sigany Hemauile

45" Coremn SHowdl  Ssr  Spsry
rfidmedis  180°  Caremd - Sl
AhSmmi erefled, Hie HHEUTZ) ST SlEnEsmIL
Crnédl Himdmmt ?
1) L Hpé&E
2) QgerHipsE
3) QzarGLMHEG
4) an_Cuh&
y ‘D I!
o_;/’

54.

Direction (Question No, 53-57)
Answer the following questions

using the given information
If + means -

- means x
X means +
+ means +
T means v~ , then

(100-2+60+4) T

D12 2) 40

3) 20 4) 6
T225x15-10 = —----

1) 215 2) 10

3) 11 4) 20
10+10-10x 10+ 10 = -
1)0 2)1

3) 10 4) 50

. 30x5+2+x=28, then the value of x

14 2) 19
3)2 4) 16
57. (10x2-4+6+1)T =
11
1) 4 2)—
3)5 4) 1

58. A man is facing North and turns 45°

in the clockwise direction and then
180" in the anticlockwise direction
which direction is the facing now?

1) North -East
2) South-East

3) South-West
4) North-West



o S LA e TRy ey P

TSRS e el sy

39.

6.

61.

62.

R(h6urT 308 gmmh Sys e Crréd) mL g,
SURGIUSHOTES Sl 405 GIMd wL kg,

tﬂs&r. Boflont srefisy SOCUNE oy mifbe
Busdiois g 5
Slemsulledl O 2

L mL_é:]Lpé,g) 2) Ggsrdlps,

3) Qg Gromys, 4) ou_Cuoig,

mt_.éa@ Cursfl Bt Q Gluetor &g sy
G shot Haosuflss 90° Sl Yneg
SRS (YT &HMID Heved, T Semaufisn
120° EmiySorst e, 8SDGUTE  oyauer

TSSevssmw Chréd G\miumst ?
1) Ggsir Hipsg 2) s Bég,
3) ou_Cuofiyg, 4) A6t Clomis,

et AL o b Corédl kg,
GLaussurs Smod 2 &iF L && .
oL - G gnmore S 368,
ELGHDM. 965 sowd smmenw RGOS
ussns ol 388 mLsHApm sefle
St ynoEs @I GHAmEg e

Huf Ggnsmsuedlsh @ dHmmt 2
1) 55 2) 2 45,
3) 3 &5, a) 1 .15,

suflpsmm (eilsar eTedor. 62—66)
&Gy  Gar(hssiu_(psrer

SHEUSTLTSL] Litg G5
ol & s EhésG silsoLwafls ).

sflsLT TS EmETT
LflsaTegmin

i) A, B, C, D, E ummud F stetrm  ogum Gu
auflenadh@ 3 Gui efsid G auflangullsy
DILOMT 5 S6TT 6T 6BTTT.
if) D srstrusui C-&@& epsmasil_L sTlns
S|LORTL GGG
iii) B srstrusui E —&g stdlrns
S|LorThgueTaTmT '
iv) E sretrueui A-&@th C-&@ib Glenuilsd
" Lo SO
D whmd C -& Q’]ﬁ)ﬂﬂ'. epsmeaillL srélyms
SiLor s s SeT wimr ?
1)B,C 2) A, F
3)E,D 4 A, D

59.

60.

61.

62.

A man walked 30m towards East,
took a right turn and walked 40m. At
which direction is he from the
starting point?
1) North-East

3) South-West

2) South-East

4) North-West %

A girl is facing North, first turns 90°
in the clockwise direction and then |
120" in the anticlockwise direction. 6:
Which direction is she facing now?

1) South-East
3) North-West

2) North-East !
4) South-West
A man walks a distance of 3kms o
towards North, then turns to his left
and walks for 2 kms. He again turns
left and walks for 3kms. At this point
he turns to his right and walks for
3 Kkms. At what distance is he from
the starting point?
1) Skm

3} 3 km

—
fart

2) 2 km
4) 1 km

Direction (Question No.62-66)
Read the following information g
carefully and answer the questions |
given below.

i) Six persons A, B, C, D, E and F are _68’

sitting in two rows three in each.
ii) D is diagonally opposite to C
iti} B is opposite to E
iv) E is sitting between A and C

69.

Which of the following are sitting
diagonally opposite to each, other
than D and C?
1)B,C
3)E, D

£ S ] s o i




66.

67.

13

C-6@ Cui ardhlyrs @Uusut wat ?
A 2)E
3)F 4)D

Qusinl afimssafld GGz &Gy
suflemaufish oyLofTs SISTETEUTGET WK 2

1) AEC 2) DBC

3) FEC 3) AEB
LStetmeupsustTaum ST waT G
suflsmaufedmLuaui ssir ?

1) D umagud F 2) B wihmnd E

3) D wohmib A 4) F whmios C

B unpis E @@aumhd shissr @Lsms
LDI'I"{E]Ir'ﬁ]n_&n QoramLnrey E -5@ msu@qml]]
@ _siremeun wimr ?

DA 2) C

3)D 4) F

40 Cuit Qarenm_ g auGLisd rell sramLer
shgeoy ol 7 @ missr (rank) (LPEBT ST ST &
o sremmt. G dulSlpial 7as G sd

shei  @apsme,  @sddobs el
6T ¢h & 6METTLIT6LIS] B Sl @ i ?

1)16 2) 17

3)18 4) 24

100 ged 3000 6LEDITLLI6IT 61T sTevor 61 v,
uggmil_gdle 1 §TSSEmENT (LpSD QB ?
1)9 2) 10

3)90 4) 900

SphieHlen ST aufinetiulg suflmaliuGi5SI-

a) Remove b) Revive  ¢) Refer
d) Reflex ) Remarks

1) cdeab 2) cedab

3) dceab 4) cdaeb

63.

64.

65.

66.

67.

68.

69.

Who is facing C ?
DA 2)E
)F 4D

Which of the following are in one of
the two rows?
1) AEC
3)FEC

2) DBC
3) AEB

Which of the following are in same
row?

DDandF
3)Dand A

2)Band E
4)Fand C

If B and E are interchanging their
positions, who is the right of E?

1)A 2)C

3)D 4) F

Ravi is 7 ranks ahead of Sundar in a
class of 40. If Sundar’s rank is 17
from the last, what is Ravi’s rank

from the first?
116 2) 17
3)18 4) 24

In the numbers 100 to 1000, how
many times digit 1 comes at the ten’s

place?
)9 2)10
3)90 4) 900

Arrange the words in alphabetical
order.

a) Remove b) Revive ¢) Refer
d) Reflex  ¢€) Remarks

1) cdeab 2) cedab

3) dceab 4) cdaeb
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S R L.

70.

ks

Tk

T3,

74.

7S

suflysnm (afleorr sremar.70 & 71)
Qar®saiuL unT Gen g/ steter geflsd
Gaunu’ L g CainQadssa.

Play, run, walk, think, write

1) Write 2) Play

3) Run 4) Think

19, 39, 59, 79, 89

1)19 2) 39

379 4) 89

aufilupsnm (eSleorm eremor. 72 & 73)
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1)1 2)2

3)3 4)5
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1)3 2)4

3)2 4) 6
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1)6 2)9

3)8 : 4)7

2%*3 =35 ereweyd, 3*4=91 srerayd

QamsiorLred 4%5 =2
1) 189 2) 41
3) 61 4) 200

70.

71.

72.

73.

74.

Direction (Question No. 70&71)
Find the odd one out

Play, run, walk, think, write

1) Write 2) Play
3) Run 4) Think
19, 39, 59, 79, 89

1) 19 2) 39
3)79 4) 89

Direction (Question No. 72 & 73)
Three different positions of a die. X,
Y and Z are given below. Answer the
questions based upon these figures.

Which number lies opposite to 6?
D1 2)2
3)3 4)5

Which number lies at the bottom
of the position ‘X’?

13 24

3)2 4)6

How many triangles are there in the
figure?

1)6 2)9
3)8 4)7
If 2*3 =35 and 3%4=91, then 4*5=" |
1) 189 2) 41
3) 61 4) 200
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Direction (Question No. 76-81) .
Identify the figure based on the continuation of the previous figures.

76.
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auflipsmm (efeorm sretor. 82—86)
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Direction (Question No. 82-80)
‘Based on the relationship between the first two figures, select the suitable figure
which corresponds to the third from the four alternatives given.
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aufipemm (eflsorm sresr. 87-90)
&G Qar@ssiu Hsrer spettGleumrer, LILLD/6uITTT 5608 & (15 @b &fhwimenr & 6T 6TT Mg,
Wibugeng Qer@eaiu L prsrg O floysaflsd @i CamiQsBesa1b.
Direction (Question No. 87-90)
In each of the following, choose the correct mirror image amongst the four
alternatives.
87.
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